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QUESTION 1

How many IP addresses are required for a new Files cluster deployment?
A. Two for each FSVM plus one for the cluster

B. Two for each FSVM plus two for the cluster

C. One for each FSVM plus one for the cluster

D. One for each FSVM plus two for the cluster

Correct Answer: A

QUESTION 2

A configuration is single domain, single forest, and does not use SSL. Which port number should be used to configure
LDAP?

A. 389
B. 3269
C. 636
D. 3268

Correct Answer: A

QUESTION 3

How should an administrator configure a custom alert for a specific VM in Prism?
A. Modify an existing alert to only alert on the specific VM.

B. Modify VM settings to add the custom alert.

C. Modify the alerts to add a new custom alert policy.

D. Modify node settings to add the custom alert.

Correct Answer: C

Explanation: https://portal.nutanix.com/page/documents/details/?targetld=Prism-Central- Guide-Prism-v510:mul-alert-
policies-user-defined-configure-pc-c.html
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QUESTION 4

A cluster has RF2. The cluster loses two drives on different nodes in the same storage tier. What is the effect on the
replicas of the VMs?

A. Some VM data may be lost

B. No VMs lose data if the node has two or more SSDs
C. Some VMs may reboot and gain access to data

D. No VMs lose data because of RF2

Correct Answer: A

Reference: https://next.nutanix.com/how-it-works-22/disk-fault-tollerance-8822

QUESTION 5

Write 1/0 that is deemed sequential will enter which component of the Distributed Storage Fabric first?
A. Oplog

B. Extent store

C. Cache

D. Metadata Ring

Correct Answer: B
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